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| understand that | must check my answer is sensible
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B 23 + 7.152 = &e 76 + 1.23
&b 31 + 1554 E & 28 + 4097
6c 654 + 23 = I 6g 9.8 + 0.155
6d 4003 +04 = ! &h 6.24 #1241 =
' ' [ |




1 | 1024 + 3463 10813 x 3

2 [5839-120 113619+ 7

3 |_+77=87 12 | 0.08- 0.05

4 |55-__=3 136 -3
44 % 800 14 | 672 + 24

6 |2+ 15 | 682 + 31

7 [3.39+10 16 17_0%

8 |62 17 (1.3 x6.3

9 |05+0.1 18 | 963,179-619,148




19 | 8,853,016+1,583,062 28 | 839 x 25
20 | 11- 0.019 29 | 60.25 x 100
21 |87 x 362 30 %of 32
22{>x9 31|75+ 10
23 | 20% x 208 32 | 303,291-10,000
24 |5x2x(32) -

p 10 2
2 wt? 34 %oj__as4
26|~ x = 35| +10=17
27 | 10% of 4.6 36 |6x__=36




Answers!

1 4,487 10 (2439 19 110436078 28 20, 975
2 |[5,719 1 |517 20 |10.981 29 6025

3 |10 12 |0.03 21 |31, 494 30 8

4 |52 13 (2 11/12 22 19/2 4 1/2 =h 85

5 |64,000 14 |28 23 |41.6 32 293,,291
6 |9/ 15 (22 24 110 33 7/10

7 [0.339 16 (2/10 or 1/5 25 |4/90 2/45 34 40

8 |36 17 |8.19 26 |16/50 8/25 35 170

9 |06 18 344031 27 |0.46 36 6




